
H
D

E 
06

/2
01

6
 

73
2.

23
.0

32

1/12

M4 x 8
DIN 965

M4 x 8

4 x 35

1 2

3

4 5 U

HDE 08/2015

 

732.23.032

1/12

M4 x 8
DIN 965

M4 x 8
4 x 35

1

2

3

4

5

U

A

E F

I

L

M

N

T

H

K

J

G
O

B

C
2x

372.91.599

Q
2x

R

P
14x

20

D
2x

S
2x

833.89.000
833.89.001

833.89.002
833.89.003

UK:AU:EU:US:

372.34.080
372.34.085

372.37.099

372.34.090

372.34.6XX

372.33.6XX

Free swing E

372.34.XXX

12.0001.010.433.0000.00

A

E

F

I

L

M

N

T

H

K

J

G

O

B

C2x

372.91.599

Q2x

R

P14x

20

D2x

S

833.89.000
833.89.001
833.89.002
833.89.003

UK:
AU:
EU:
US:

372.34.080
372.34.085

372.37.099

372.91.098

372.34.090372.34.6XX

372.33.6XX

Free swing E 372.34.XXX

12
.0

00
1.

01
0.

43
3.

00
00

.0
0



H
D

E 
06

/2
01

6
 

73
2.

23
.0

32

2/12

„mm“

„mm“
1

372.34.600
372.34.601
372.34.602
372.34.600
372.34.601
372.34.602
372.34.600
372.34.601
372.34.602
372.34.600
372.34.601
372.34.602
372.34.610
372.34.611
372.34.612
372.34.610
372.34.611
372.34.612
372.34.610
372.34.611
372.34.612
372.34.610
372.34.611
372.34.612
372.34.620
372.34.621
372.34.622
372.34.620
372.34.621
372.34.622
372.34.620
372.34.621
372.34.622
372.34.620
372.34.621
372.34.622

372.34.090

1.8 - 4.0 kg
3.4 - 6.5 kg
5.2 - 10.3 kg
1.8 - 3.9 kg
3.3 - 6.3 kg
5.0 - 10.0 kg
1.8 - 3.7 kg
3.2 - 6.1 kg
4.8 - 9.4 kg
1.8 - 3.5 kg
3.0 - 5.8 kg
4.5 - 8.9 kg
2.5 - 5.9 kg
5.0 - 10.0 kg
8.2 - 15.9 kg
2.5 - 5.6 kg
4.8 - 9.6 kg
7.8 - 15.2 kg
2.5 - 5.3 kg
4.7 - 9.3 kg
7.5 - 14.5 kg
2.5 - 4.8 kg
4.5 - 8.8 kg
7.0 - 13.5 kg
3.2 - 6.5 kg
5.7 - 11.3 kg
8.5 - 17.1 kg
3.1 - 6.3 kg
5.6 - 11.1 kg
8.4 - 16.7 kg
3.0 - 6.0 kg
5.4 - 10.7 kg
8.2 - 16.0 kg
2.9 - 5.7 kg
5.3 - 10.3 kg
8.0 - 15.3 kg

370

400

450

500

500

550

600

670

670

700

750

800

S1sw
S4sw
S7sw
S1sw
S4sw
S7sw
S1sw
S4sw
S7sw
S1sw
S4sw
S7sw
S2sw
S5sw
S8sw
S2sw
S5sw
S8sw
S2sw
S5sw
S8sw
S2sw
S5sw
S8sw
S3sw
S6sw
S9sw
S3sw
S6sw
S9sw
S3sw
S6sw
S9sw
S3sw
S6sw
S9sw

XXxx

Kg

I
KH

Kg max !Kg ≤
!!!

Kg(       x 2)

O

O

KB > 1200

KB KB - (2 x K) - 113

K
mm

372.33.689

372.33.688

372.33.687

16
19
16
19
16
19
16
19

KB

449

749

1049

600

900

1200



3/12

H
D

E 
06

/2
01

6
 

73
2.

23
.0

32

„mm“

40

0
28.9

10.3
8.3 26.9
45.4

64
71.4 82.6
101.2

119.7

36
6

0

39
6

44
6

49
6

54
6

64
6

66
6

69
6

59
6

74
6

79
6

23
7.

4
26

5.
3

31
1.

7

35
8.

1

40
4.

6

45
1.

0

49
7.

4
51

6.
0

54
3.

8

59
0.

2

63
6.

7

17
8.

6

12
6

40
18

9

33
32

3164 643264

32

37
0 

- 8
00

≥ 273

≥ 2

≤ 40

~ 24

~ 
30

5
~ 

21
1

≤ 
10

0

25.5

36

15.5

32
20

2

12
6

32
32

A1

50.5

60

15.5

32
20

2 17
5

32
32

A1

12

Ø5
12

≥ 30

Ø35

12

6

105
140

Ø12



H
D

E 
06

/2
01

6
 

73
2.

23
.0

32

4/12

„mm“
1

L

R R
32
32
32

35

40

32

64

64

64

16
12

Ø5

Euro

Spax

33

65

97

32

3164 643264

31225 95127191

32

12

Ø5

„mm“
2

12

12

≥ 30

Ø35

6

105
140

Ø12

R

R/L



5/12

H
D

E 
06

/2
01

6
 

73
2.

23
.0

32

3

3

B

1
2

4
PZ 2

L

1

2

3

M



H
D

E 
06

/2
01

6
 

73
2.

23
.0

32

6/12

5
PZ 2

1

I

3

2

6
PZ 2

A

2

1



7/12

H
D

E 
06

/2
01

6
 

73
2.

23
.0

32

7
PZ 2

B

B

22

N

1

8

O

2

3

4

O
D

D
1

1

0 mm



H
D

E 
06

/2
01

6
 

73
2.

23
.0

32

8/12

10

S

T

K

PZ 2
CR2032

J

CR-2032

9

J

K
H

24 V
max. 20 W

Loox

U

1

2

3



9/12

H
D

E 
06

/2
01

6
 

73
2.

23
.0

32

„mm“
11

5 mm 5 mm9 mm

K

6.5Ø9

A2
F

32

32

Ø9

6.5

B*

21
8 

+ 
A

1

32

32

* B = A2 – 5.5

B min. =   7.0
B max. = 13.5

A = K – F

Ø7.8

B

90°

A1/A2

20
2 

+ 
A

1

32

32

32

15.5 + A2

12

Ø5

Ø5

12

C

2

3

Q

1
C

P

P



H
D

E 
06

/2
01

6
 

73
2.

23
.0

32

10/12

13

1

2

=!

= Kg

NmNm

PZ 2



11/12

H
D

E 
06

/2
01

6
 

73
2.

23
.0

32

„mm“PZ 2

1.5°

=

=

1.5

=

1.5

Free up E

940.XX.YYY

Deutsch (Originalbetriebsanleitung) .........................................................................2

English (Translation of the original operating instructions).....................................10

Français (Traduction des Instructions d'utilisation originales) ................................18

Español (Traducción de las instrucciones de funcionamiento originales)..............26

Italiano (Traduzione delle istruzioni d'uso originali)................................................34

Russisch.................................................................................................................42

Chinesisch..............................................................................................................50



12/12

H
D

E 
06

/2
01

6
 

73
2.

23
.0

32

© 2016 by Häfele GmbH & Co KG
Adolf-Häfele-Str. 1 · D-72202 Nagold · www.hafele.com

Subject to 
alterations

14

2

2
1

E

2

F

2
1

3

2

1


